FREEMOUNT

Montageanleitung
Assembly instructions
Instructions de montage
Instrukcja montazu
Instrucciones de montaje
Montazni navod

Istruzioni di assemblaggio

LCD 480
LCD 480 EW

22"_ 60"

TV screen size

400x400 | 65 - 460 mm [ +3°/-15°
max load VESA max. Adjusted wall distance Maximum TILT max SWIVEL

[ (o (|-
M5x15(x4) M6x15(x4) M8x15(x4) M5x30(x4)
A B Cc D
M6x30(x4) X4)
E

M8x50(x4)
F

—=sm (0) O

\@TBXSO(M) (J)(x4) (K)(x4) Bubble level cableclip(le/

N Y o

Montage sur mur de béton
Solid concrete mounting

4

brick / concrete wall

mur de brique / béton
Ziegel- / Betonmauer
$ciana z cegiet / z betonu
muro de ladrillo / hormigén
cihlova / betonova zed
muro di mattoni / cemento

e

~ Installez les supports adaptateurs \

Attaching the brakets to screen

[ .

50mm

@8.0mm

Protecteur de plastique
Plastic cover

)

Accrochez le téléviseur sur la plaque murale
Hang the TV on to the wall plate

AN

Montage sur mur a ossature de bois
Wood stud mounting

wall made of wood / plasterboard and similar materials
mur en bois / plaques de platre et matériaux similaires
Holzwand / Gipskartonplatten und @hnlichen \ ialien

50mm

$ciana z drewna / gipsokartonu i podobnych materiatow

@3mm

pared de madera / carton-yeso y materiales simil
sténa ze dfeva / sadrokartonu a podobnych materiald
parete in legno / cartongesso e materiali simili

Protecteur de plastique
Plastic cover

P4

/s
/" Please tight the screw




	Page 1

